Explain HOW BOXES 2 and 3 affect BOX 1
Answer Key

1] Jack’s relationship

2] Warren’s description

3] THREE things Jack

with Theodore of Theodore remembers in Chapter 3
- Is barelv developed until -ineffective
> Darely aeveloped untl ot -Ellis Burden leaves for
alter in the novel. -quie Arkansas
-shy

(more immediate conflict
would be generated by tow
men in close agreement)

- Cared less for each father
figure

-mother hold him down

-devoted to Mrs. Burden

-commands little respect

-Anne Stanton’s face

1. Jack feels his father truly di
leave his family.

2. Jack feels his mother only
married for money and prestige.

3. Jack never go to know these
men; she never stayed married to
develop a relationship.




